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Model Question : Class X : English : 80 Marks : 2020-2021

Section A : Reading 20
1. Read the passage given below and answer the questions that follow: 8

a) The importance and advantages of reading books are many. Reading not only enhances
our vocabulary or language skills but also widens our horizon and improves our social and
thinking skill.s

b) The best way to begin to read is to start with the classics of literature. Classics are those
books which have become recognized for their excellence. When one wants to read a novel,
it is best to begin with the works of well known and established writers. The importance of
reading the classics is that one will develop the habit of being satisfied only with the best of
everything. Having once read the best, one will never compromise with anything less than
good. Reading of classics from one’s taste and judgement. Once this is achieved the reader
can be left to himself.

c) Modern books, however, cannot be ignored. Modern poetry or novels should be read only
after one’s taste has been formed by reading the classics. One must always keepreading
books on general topics for getting knowledge and information. In these days, it is necessary
to know a great deal of many things. Books on history, politics and science should always be
widely read.

d) Itis wise to consult a teacher or a well-read librarian. Attempt should always be made
to get the best available books. One should also read books dealing with the people and
problems of one’s country. One should read books on self-improvement or related to some
vocation in order to be updated and in sync with the times.

e) The man, who has stopped reading as soon as he begins to earn, has shut the doors to
information and self-improvement. For specialized knowledge of one’s vocation, one must
continue reading as it is sureto increase one’s efficiency.

f) As for the choice of books, what is good for one may not be so for another. Thus no
reading could be compulsorily prescribed for all. A student is more likely to be attracted to
those books which are on his prescribed course of study than general reading. As one’s
interests grow, testes are more specialized and books are picked up for a variety of reasons
not always connected with one’s vocation.

g) Reading of books is a pleasure. It has a joy of its own. We forget our cares and anxieties
for the time being and live in a world created for us by the author.

Attempt the following questions on the basis of the passage you have read.

1.A Choose the correct option : 1x2
(a)According to this passage, ........c......... can advise us while choosing books for reading.
(i) a teacher or a librarian. (ii) a friend

(iii) a neighbor (iv) uncle



(b) The best way to start reading is to start with .................. )

(i) classics of literature (i) Science fiction
(iif) modern novels. (iv) modern poetry
1.B Answer the following questions. 1x5

a) What do we learn from reading?

b) What are classics ?

c) What is the importance of reading a classic ?

d) Why should one read books on self improvement ?

e) What does reading of books provide us with ?

1.C Find the word from the passage which means the same as : 1
(a) to go to somebody for advice .

2. Read the (Discursive) passage given below and answer the questions that follow:
12

Obesity Among Canines

a) If you thought that overwight was a problem among humans alone, then think again. A
recent study carried out in UK on the state of obesity among pets revealed startling facts.
According to this report, there are almost 45% pets in the country that are overwight.

b) According to the findings, what causes this overweight problem is the feeding of leftovers.
In fact this custom is regarded as the biggest factor causing overweight, according to 200
vets and 1000 pet owners. The report found that nearly 45% of the dogs were overweight
while the obesity rate among cats was slightly lower, at 40%. Almost one in three rabbits
(28%) and guinea pigs fell into the obese cetagory, while 15% of caged birds were also fund
to be too fat. Of their owners,what the report revealed was that two out of every three owners
believed their pets were the correct weight. Around three in four vets believe that pet obesity
is on the rise.

c) When contacted by the researchers, vets came forward with the opinion that the root
cause of pet weight gain was that the owners of these animals and birds were not following
feeding guidlines. Along with feeding them with leftoves, these pets were not given adequate
exercise. This problem was most marked among dog owners where also 78% of them were
found to be indulged in by their owners.

d) Besides lethargy and eating problems, these overweight pets suffer from a myriad of
health issues according to Zara Boland, founder vet vocice.These animals run the risk of
osteoarthritis, cardiovascular disease, and diabetes. There is nothing ‘cuddly’ above an
obese pet, shed adds.

e) Obese animals have the same symtoms as obese humans. Their obesity causes hem
discomfort, and illness and can cause result in both emotional distress and financial pres-
sures for owners, and has been proven to reduce actual life length.

f) These vets say that they are committed to continuing pushing the pet health message until
overweight pets are no longer an increasing and widespread concern. To keep their pets in
the best of health these vets advised their owners to exercise their dog for thirty minutes daily
for adult dogs, and forty minutes for cats.



2.A Answer the following questions in about 30-40 words: 2x4
a) What were the findings of the UK study on animals ?
b) What accoridng to the vets was the cause of pet weight gain ?
c) What are the health problems that overwight pets are prone to ?
d) How are vets trying to overcome this problem ?

2.B On the basis of your reading of the passage, choose the right answer : 1x2

a) There are almost ............. pets in the country that are overweight.
i) 50% (ii) 40% (ii) 45% (iv) 30%
b) The vets advised their owners to exercise their dogs for ......... twice daily.

i) 20 minutes (ii) 30 minutes (iii) 10 minutes (iv) 25 minutes.
2.C Find out the words from the passage which means the same as : 1x2

i) a lack of energy and enthusiasm (para—)
ii) a physical or mental feature which is regarded as indication of a disease (para—5)

Section - B : Writing and Grammar : 30

3. a) Write a letter to the Editor of a local newspaper complaining against the scarcity of
water in your locality. You are Bisha/Baishali of Ramnagar, Tripura. Write the lettter within
100-150 words. 8

OR
(b) You are raima/Raghu of Udaipur, Tripura. Everyone knows how important it is to
maintain a safe distance to check the spread of Corona Pandemic but the careless attitude

of people is bothering you. Write a letter to the Editor of a local daily expressing you
concern and suggesting measure that may be taken. Write the letter with 100-150 words.

4. (a) Write a story within 100-150 words with the help of the following cues and add
a suitable title to you story.

(A hungry fox in a jungle —came to see fresh grapes —jumped to reach a bunch of grapes
but failed — left the place saying ‘The grapes are too sour to eat’.)
OR
(b) Saima was just ten when she lost her parents. She lived all lone in the thick forest of

Baramura. All alone!!! not really. Forest was her foster mother. Forest lived in her heart and
she in the forest ..... (Complete the story within 100-150 words and add a suitable title).10

5. Fill in the blanks with the correct form of the word in the bracket. Write the answers

in your answer-sheet against the correct blank numbers. 4
Karthik, (a) ......... (which) is a writer, penned a book titled ‘The Ashes of the Prey’, a
thriller novel based (b) ........ (upon) a lawyer who (c) ............ (ruin) into piles of trouble

after (d) ....... the accident.



6. In the following paragraph, there is a word missing in each line. Write the missing
word along with the one that comes before and the one that comes after it.

Before Word  After
a. The telephone there for your convenience, not ... o ieeer e,
b. for convenience of your callers. Yet, as soonas .  .......... s e
c. we hear the phone ring, we act if we are fire fighters ........ ... .
d. rushing to the fire-alarm. We run pick itup asif ..., e .
our lives depend on call being answered at once.

7. Rearrange the following word or phrases to make meaningful sentences.

(a) the temple architeture/form an /the sculptures and paintings/of/essential part

(b) the architecture /engineering marvels/is both / an artistic masterpiece/and an in some
temples

(c) is/suitated in/ the Konark temple / dedicated to / north-eastern corner of Puri/the Sun
God

(d) the stone / temple / of stone / types / made / from three/ was
SECTION-C : Literature 30

8. Read the following extract and answer the questions as follows in not more than
10-15 words each.

A. On that lovely autumn day | was accompained by my daughter Zenani on the podium
Mr. de Klerk was first sworn in as second Deputy President. Then Thabo Mbeki was
sworn in as first Deputy President. When it was my turn | pledged to obey and uphold the
constitution and to devote myself to the well-being of the Republic and its people.

(a) Who is ‘T’ referred to here ?
(b) Who was sworn in as the first Deputy President ?
(c) The speaker pledged to devote  to the well-being of the Republic.
(Fill in the blanks)
d) Find out from the extract a word which means ‘stage’.
OR
“Some say the world will end in fire
Some say in ice.
From what I've tasted of desire
| hold with those who favour fire”.

(a) Who is the speaker of these lines?
(b) What has the poet tasted ?
(c) What does the word ‘desire’ signify here ?
(d) The poet thinks that the world will end in -
i) storm (ii) fire (iii) flood (iv) cyclone
9. (A) Answer any three form the following questions in 30-40 words each . 2x3

i) Why does the postmaster send money to Lencho ?



i) How does the poet, Adrienne Rich describe the ‘forest that was empty’?
iii) Where and what, according to Leslie Norris, should the tiger be doing ?
iv) What proves that ‘Baking’ was indeed a profitable profession in the old days?

(B) Answer any two to the following within 30-40 words: 2x2

(i) Why is Mrs. Pumphery worried about Tricki ?
(i) Who was Horace Dunby ?
(iii) What was the cause of Matilda’s ruin ?
10. Answer any one of the following questions within 100-150 words. 8

a) From the Diary of Anne Frank throws light on ‘teacher-student relationship, class
atmosphere and discipline’-lllustrate.

OR
b) What lesson does ‘The Sermon at Benares’ teach? Explain your answer in the light of
Gautama Buddha'’s conversation with Kisa Gotami.

11. Answer any one of the following questions (word limit-=100-150) 8

Why do you think Bholi is called Sulekha in the end of the story ? Explain how Bholi was
neglected as a girl child and the way education transformed her to Sulekha.
OR

‘Footprints without feet’ shows the negative value of science when it is misused. What
moral does the story give out ? How should science be used ?
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Model Question
Class - X : Mathematics (Basic) : 80 Marks : 2020-2021

freia-= : afeh amas=-1:1x20=20

I) Choose the correct answer :  1x10

1. faare AT x2— 4 = 0 93 Horaw 267 —
a)2,2 (b)—2,2(c)-2,-2 (d)2,0

2. 2x — 3y =5 TNFAC y GF T 3 T x T W I —
a) —7 (b) 14 (c) 7 (d)—14

3. %% %,—5, ........ IS ZsifoR AN oF 2ol —
a)—1 (b) 2 (c) 1 (d) 4
4. & % (AT P (-6, 0) R@yae =0 —
2)36b)3 (c)6 (d)—6
5. 3 GG CANETCR A 1 IS 2, OT Ol ST 773 —
@ 4z O ) P (© gt G (@) S G

IT) Answer the following quesitons :  1x5
6. 276 50 AB 251 JUeT Gfb el 0
@32 OB M7, ©12w  OBA @ Wiv —.

7. cos 60° &F N 267 — B
8.2we fora DE || BC 17 AE=1.8 G1f¥, EC = 5.4 (if¥ 2%, ¥3k BD=7.2 (if¥ T ©q AD=?

1.8 Gif%

D E
7.2 @AW

B C
9. (0,0) @3 Q (3, —6) RMYHF AT @RTAT T4 Ze
10. f9CH 2vre sifeel [etemiba Fea

cifel 0-5 5-10 10-15 15-20 20-25

{fFR 8 10 19 25 8




RN o G 25 -

IID) Fill in the blanks :
11. 3g7m AN ax?— 2x @36 [+ 2 T ‘@’ @ T 2 |
12. M A ABC 9 STOCHE %) &, O@ A, B @R C Rofeetl 20|
At
(2, 3) =% (4, 1) 7 ufoa 5= g zet |
13. @ 6, x, 8 ANET A9fOre MF SR X GINNZE
14. r A RIS Jrea »fFfa 2= |
15. I cos A=sin 42°2T, S A GINF T
IV) Answer to the following questions
16. 77 IR p(x) GT S y = p(x) 97 @TLba Mo @SR AT | p(x) GF =77 7271 67 Tt |
Y

7

Y
17. 140 RGITE GNETE SoAMTH JeFCs 2 Al |

18. &b =lega P 3 @Ifil @3k Tt 7AW | @fba Stizrew fRefeea |
* A
Tt @6 o (oI E 2.1 I =, 01 @fod smred foefa St |
19. awefota AODC ~ AOBA, ZBOC =125° €% ,CDO = 70°-

Z0AB < D C
70°
0] 125°
20. I P (E) = 1/3 27, O ‘E T 47 TSI F© ? A B

fa=i9-2 : Each Question Carries 2 marks : 2x6=12

21. k ST NG x-3y=7 GR kx+6y=5 «F 3 A7 AF |
22. faars Tgom AfREN el Fcat T Mo @i @ jorpet JAFCH 6 G3R 2 |
* G2t
p(x) = x*+x+1 97 3 e S0, T8 x = 1.
23. awe fora, Ofsm Bl «3(G 77 B (2t «3f6 W AC 9= Tarfs ¢iet 60°, 3w Se=iba Sl 20f07 23
0 FRIR AW (20 [ioa vag ey e |



20 %

600
A B

24, @G IO 2G| G T 1 267 | OIRCE (i) G0 GNIRs HL (ii) G0 SR A AN ABIKAI
fefer st |
* 12

9is &l GIAIC B 411 29 | IR0 (1) FAATF G0 (2 (i) G0 (2 I 2SI ABA| T 2
25.17,23 @32 29 @& Al o e et |
26. M tan A = cot B 7, O3, AN IR @ A + B = 90°.

faeta-9t : Each Question Carries 3 Marks : 3x8=24

27. 3 G AT 291fSF POIT G T 7 ILARFC 4 G2 —8 2, O 3 T 2A9/fS7 @I 2l %[ 2
28. (—4,-2), (-3,-5) 8 (3,-2) R9yieT T390 T8 @ @ faga “ien 9w o7 craws ey st |

29. 3= e FCEI -2 5 c0s?60° + 4 sec?30° — tan’45°
* o9l

(14 sin B)(1—sin )

> (I+cos@)(1—cosb)

7
Tw cotl9:§ T, O @ a7 S el st |

30. G5 FEP MITS (@1 fea it 2ifs oIt 24 et B 5280 Bi-w <4316 27 | M 517 e Afs

22
HIBICT 0.50 BIel S 475 = | MIBTE BT FATO (G F© 45 A2 ( == 4l ) |

* Yl
G0 *M1Ex AT Sipia T 8O 1 M ST sifotas worT 66 6N &1, 1= 10 G e #iifes 2fsf o

FEIR 5o SIS F=oAq A 2

31. ANgi| Frai ¢ 100x2 —20x +1 =0
* ]y

1
x+= =3, x=0
X

32, 3EE I (ATF AT G35 I o dioe 521 247 | @6 955 waaef 2e T8l F@ ¢



eto-g

33, AR @[3 G0 ST AL |
34, S T7R (@FIC @I Y (P) (AT 20 HiG O @3l e (BC) T2 woim=ie O3 72bR SaiEs

AT (B) 8 M (A) THfS (ol IAFTH 450 2R 60° | R Towot ool e |
A

20m

450 60°

f&=i%-5 : Each Question Carries 4 Marks : 4x6=24

35. gl e ¢ 3x +4y =10
2x -2y =3

RE|

> 3,

36. 28 ST @, @I T fagres sfegtes 3of «fta <o 1t I157 059 TS i 27|

37. 6 GIfS AT RS «afS J& w1sem a1 | 087 @ (AT 10 FIf 7779 @3l [ (2 Jefba o
o] ST A | (XGOS 29l o721, efwiel frte 203 =1t | Sree] o9t 71 20 20 1)

38. e I ([, AR G 7 (AT IO T SR o (o) (aTar Oy ST G Ol (0K IS0 (el
T T |
* oAt

A R (T, IR @ 7 (U0 Jrea T wfers =i 7o g ey (e, =i 43R @i I
SRINGEREISIS e sk e



39. @3> ST F7PT IS, 77 2fSft AT Gl e v st (fba orat) | FishgEa @il
oy 14 ffs @z it 56 | afbw spretes crama et |

-

A

14 mm

40. [oa Az Reretag s o s —
Tl (G 160-162 | 163-165 166-168 | 169-171 172-174

AfgerRat 15 117 136 118 14

* Yy
A7 AL Tere AT AT 62.8 20T x G [ el 47|

cxifel AL
0-20 5
20-40 8
40-60 X
60—80 12
80-100 7
100-120 8




Model Question
Class - X : Mathematics (Basic) : 80 Marks : 2020-2021

Section- A : Each Question Carries 1 Mark : 1 x 20 =20

1) Choose the correct answer : Ix5

1. The two roots of the quadratic equation x*—4 =0 are

a)2,2 (b) 2,2 (c)-2,-2 (d)2,0
2. In the equation 2x — 3y = 5 if the value of y is 3 then the value of x is
a) —7 (b) 14 (c) 7 (d)-14
31 1 3 _ .
3. Inthe AP: DT T the common difference is
a)—1 (b) 2 (o)1 (d) 4
4. The distance of the point P (-6, 0) from the origin is
a) 36 b) 3 (c) 6 (d) -6

5. If the radius of a sphere is 3cm, then its volume is
4 3
() 477° e’ (b) EW ‘om* () 42 em® (d) ZW3 cm?

1I) Answer the following questions :  1x5
6. In the given figure AB is a tangent to the circle and O
OB is the radius, then Find ~ OBA .

7. The value of cos 60°

8. In the given figure DE || BC, If AE=1.8 cm, EC=5.4 cm, and BD=7.2 then AD=?
A

1.8cm

D E
7.2¢ 5.4cm

9. The mid-point of the line segment joining (0,0) and (3, —6) is

10. For the following frequency distribution

Class 0-5| 5-10 10-15 1520 20-25

Frequency 8 10 19 25 8




The upper limit of mode class is

I11) Fill in the Blanks : Ix5
11. If 2 is a zero of the polynomial ax?— 2x , then the value of ‘a’ is
12. Ifarea of A ABC is zero, then the points A, B and C are
* OR
The distance between the point (a,b) and (—a, -b) isequal to
13. If 6,%x,8 arein A.P.thenxisequalto .
14. Perimeter of a circle with radius r is
15. If cos A= sin 42° , then the value of A is
1V) Answer to the following questions : Ix5

16. The graph y =p(x) is given below for the polynomial p(x) . Find the number of zeros of p(x).
Y

7

Y
17. Express the number 140 as a product of its prime factors.
18. The radius of a cone is 3cm and height is 7cm. Find its volume.
OR

If the radius of a hemisphere is 2.1cm, then find its volume.

19. In the given figure AODC ~ AOBA, ZBOC =125° and ,CDO = 70°.

Find ZOAB . D c__
70°
O 125°
20. If P (E) =1/3, What is the probability of ‘not E’ ? TA B ?

Section- B : Each Question Carries 2 marks : 2x6=12

21. For what value of k, x—3y=7 and kx+6y=5 will have no solution.
22. Find the quadratic polynomial whose sum and product of zeros are 6 and —2 respectively.
OR
Find the value of p(x) = x>+x+1 when x =—1.
23. In the given figure, the angle of elevation of the top of a tower AC from a point B on the ground is
60°. If the height of the tower is 20m, find the distance of the point from the foot of the tower.



20 m

A 60°

B

24. A die is thrown once. Find the probability of getting (i) a prime number (ii) an odd number.
* OR

Two coins are tossed simaltaneously. What is the probability of getting (i) at lest one head (i1) no head?
25. Find the L.C.M of 17,23 and 29 .

26. If tan A = cot B, Prove that A + B = 90°.

Section-C : Each Question Carries 3 Marks : 3x8=24

27. If the 3rd and the 9th terms of an AP are 4 and —8 respectively, which term of this AP is zero ?

28. Find the area of the triangle whose vertices, taken in order are (-4, -2), (-3,-5) & (3,-2) .

29. Evaluate -3 5 c0s?60° + 4 sec?30° — tan?45°

* OR
(14 sin B)(1—sin )
(14+cosB)(1-cosO)

7
If cot@ =§ then evaluate

30. The cost of fencing a circular field at the rate of Rs. 24 per metre is Rs. 5280. The field is ploughed

22
at the rate of Rs. 0.50 per m?. Find the cost of ploughing the field. ( take 71'=7 )
* OR

The wheels of a car are of diameter 80 cm each. How many complete revolutions does each wheel
make in 10 minutes when the car is travelling at a speed of 66 km per hour ?

31. Solve ¢ 100x?—20x +1 =0
* OR

1
X+—=3, x# 0
X

32. Aletter is selected at random frm the set of English alphabets. What is the probability that it is a
vowel ?



33. Prove that /3 is an irrational number.

34. From a point (P) on the ground, the angles of elevation of the bottom (B) and the top (A) of a
transmission tower fined at the top of a 20m high building (BC) are 45° and 60° respectively. Find the
height of the tower. A

20m

450 60°

Section-D : Each Question Carries 4 Marks : 4x6=24

35. Solve 8 3x +4y =10

2x -2y =3
* OR

> 3,
X
74 4

36. Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the squares of the

other two sides.

37.Draw a circle of radius 6cm. From a point 10 cm away from its centre, construct the pair of tangents
to the circle. (Write only the constructional procedure but no proof in to be given. Traces of construc-

tion must be clear).

38. Prove that the lengths of tengents drawn from an external point to a circle are equal and they

subtend equal angles at the centre.
* OR

Prove that the angle between the two tangents drawn from an external point to a circle is supplemen-

tary to the angle subtended by the line-segment joining the points of contact at the centre.



39. A medicine capsule is in the shape of a cylinder with two hemispheres stuck to each of its ends (see

figure). The length of the entire capsule is 14 mm and the diameter of the capsule is Smm. Find its

-

surface area.

A

14 mm

40. Find the median for the following frequency distribution :

Height (in cm) 160-162 | 163—-165 166168 | 169-171 172-174

Frequency 15 117 136 118 14

*OR

The mean of the following distribution is 62.8. Find the value of x.

Class Frequency
0-20 5

20-40 8

40-60 X

60-80 12

80-100 7

100-120 8

* Additional Questions



Model Question
Class - X : Mathematics (Standard) : 80 Marks : 2020-2021

freia-= : afeh amas=-1:1x20=20

I) Choose the correct answer : 1x5 1x10
1. k €3 I T Gy kx(x—2)+6 =0 a0 AN Aeraz e 20 —

a)k=6 (b) k=2 (c)k=-6 (d) k=4
2. y=0,y=—4 TaRF AN YOI SR

a) G AMAT (b) 7o AN (¢) SHAN FAAF TALH(d) @I AT (=3 |
3.MEF Aafs 3,8, 13, 18, ... 9T (I %W 78 2

a) 14 (b) 15 (¢) 16 (d) 17
4. x O (AP P(3, -5) Rqa g (90) 2=

a)3 b)-5 (¢)5 (d)-3

5. T9 (NI SIS 36,7 CIRE, O e (W) 267 —

1
@ 3 (b) 33 ©3J3 (@3
IT) Answer the following questions : 1x5
6. 27 5ra PQ 2 J0e 46 “oKF @3z, QOP = 70°, Izt QPO =2

o —"

Q

. 3
7. S IR s1n0{§ @GR cos f=0 ,ORC f—a 99 Vq 2 —

AD 3
8.2we fotg DE || BC 13 2D "5 SR AE=27 (1S 2%, 93 EC 261 —
A

2.7cm

D E

VTN

9. P(-6, 10) @3 Q (-2, 4) Rt e (@R g I A (m,7) 2, O@ m G I F© 2

10. I G0 AMSTAR 51T W 27 G NG 33 25 O OF ALAN9F M =& —

IID) Fill in the blanks :

11. 3 x -3 7/ 4x2— 6x — m ™54l ool Koten 27, ©F m @3 [+ 21 :

12. AOBC =& «&fb Siererea, T foait M 267 A (0,-3), O (0,0) @R B (4,0) |'SIF I (7 2o



* Yl
X S0 B9 (@ /0 (—6, 0) @3 (4, 0) (AT TS| ©f Z& |
13. AW (P-1), (P+3), (3P-1) SIS 29T AT O P & N 2 |
14. 247G G TGYHF I O (FaeT 2o |

15. 3 sin @—cos @= /3 cos H(6#90) =, I

O&tang IV |
IV) Answer to the following questions e
16. X% — 6x+2=0 FNFACR Jeratm= AN fwefT Tt | v
17. y ST ANTATTE (3, —5) v alfsfoga wimies o et |
18. @35 (MNeTFT T 14 | @f6d sPoteR cwas T S |

4l

G O (9N T 4.2 G | @fox Simes fefa et |
19. @& 5ta AB || CD, AB=4 (if¥, AE=3 (If¥ @3k CD=10 @Ifs( | DE @31 (v fovefy scat |

D

A C

20. T @35 951 E 961 T8RN 0.023 TS P () e e |

fa=i9-2 : Each Question Carries 2 Marks : 2x6=12

21. k @« [ a0 T3 Ty @R TN ©F 2x+5y=3 @R (k+1)x + 2(k+2)y=2k @ S AT
SR AT |

1 1
22. g AW 2y2 + Ty + 5 G ¥V ¢ 4R S T ;+—aawﬁcﬁzrzsm|

A4t
Tt g5 AR 5x2+13x—p IF G =77 SI2ATT ST 2, O p 7 |
23. @ fSFIET (AB) Aiwmee (2t 30 fibE maef @Il [{ige (P) Wi i Mo Tafs @iel 30°
e Twe! T et |

A

300
30 %




24. &35 BRI FltR G0 21 AR, T AT OCe [WH{ERS SrF9)tet TR

A B C D E A

@il @1 st 1 261 1 O1RGT (1) A @R (i) D 21STa AR B =01 2
+ 2

Tegeel G 526 SITR G #IITRG (AT G0 O (OTeT] 251 | (O1eT S (1) 22 1 95(6 (Gl
(ii) G(b T AT 2EF ABA! el FC |

25. X2 — Tx +10 35 Al ey fef e
26. &9 A (@, tan 10°. tan75°. tan 15°.tan80°=1

f=i9-9 ¢ Each Question Carries 3 Marks : 3x8=24

27. GRS e SN 34 + 32+30+...+10
28. A (15,5) @32 B (9,20) RaR@ A (@RIt P(11,y) (0 @ Seeiice ew 3= sl e 01 |
y @3 e e et |

3 1
29. 3+ e 61 -2 Cot?30° — 2cos230°—z sec245°+z cosec?30°

A

1
T tan (A+B)= /3 @ tan (A-B) = 75 T @AE0< A+B<90"¢ A> BT, A € B G S fyef

T |
30. 14 % 118 RS @3 Jren @i i JreT (@0 AN T 0 | e Sl TSI ¢Fa
e folef |

41
@i i ffFea SBI 12 et |1 35 [iRE swiex S e S0 9 712 ot @ cFa Sifeas F ol
CFaTa e Tl |

3LMAM R s 257 +7x+52 =0
* Sl
11

x x-2

=3, x=#0,2

32. G0 (BT G GBI 3@l 3 9 5 1 267 IR A (30 i Zpetlzpe ferf=im a1l 231 | 11 ferera 3w 537
3 Ao To @2 2T | G (LTS AT A T I | (I I TR FeATAYeNe (@Teall |

33. feriie fRSTRIR R<iog w9 el et ¢



cfdfeie | 0-20 20-40 |[40-6 |60-80 80-100 | 100-120 | 120-140

IAfFRA | 6 8 10 12 6 5 3

34.150 fSOR AT SRORS 76 BB I 07 Gho! ST B9 G2 ST AMMCR TS (@A
BT SRS (! 7 (AT THod BE 8 T#7 BIBF SARSRIe AT 60° @R 30° | TS 7foa Tt foyefz
T

fa=i9-% : Each Question Carries 4 Marks : 4x6=24

3
35. g e e 2x——=9

y
7
3x——=2 0
y v
* Q]
TR AN SFR (1S 0ot (T AR SN Tl ¢
3x+2y=4
2x-3y=7

36. 2 ST @, IR @I R (A JOeT T oo <o et Oy Il G @31 (&0 FA (et
Ty FF |

37. 4 GIfS ente 15 Jrea MR (@It R (It 7S ~o=isiss Sieel a1, T #1751 60° (T 7 | (@
& el TR, @fsiiel fTe 203 =11 | Sehe HZ9lTal 7515 20 204 1)

38. A ABC @3 31ZaT AB € BC @32 95l AD I PQR @3 91g@T PQ 8 QR @R G PM @ AR

AT | (e @ A ABC ~ A PQR B
A
B C
R
D Q M
* 24
AABC @3 BAC T34 @3 BL '€ CM & i 7 | A

2% SR @, 4 (BLA+CM?)= SBC2




39. GG Fiol SN @4 TR =2/ Fioll (Gre I (b ~Aia toft Fa1 2@ | 7 FEiesha
AP 14 G G332 379)¢f oi1tas Twot 13 (i 27, ©0F SATafba e U3 (SSRe 7Potes (Fazwe] T S0l |

«weqt

12 GifS Bwsel @ 5@ i it RS @l =6 aegeaia e (2 o7 Twe! @ iy g R[S
G5 AT *Ieg (FCE AR @6 257 | SRS T TGO ST 3 T2 FFOCE (et el FCA |

[7=3.14]

40). fagfafe #ifFee Rerswia T4 At e 57.6 @32 @16 271 50 |

fefetal | 0-20 [20-40 40-60 6080 80-100 100-120
AR 7 f 12 £ 8 5
f 3% f, el el |



Model Question
Class - X : Mathematics (Standard) : 80 Marks : 2020-2021

Group-A : Each Question Carries 1 Mark : 1 x 20 =20

I. Choose the correct answer : 1x5
1. The value of k for which the quadratic equation kx(x—2)+6 =0 has equal roots
a) k=6 (b) k=2 (c)k=-6 (d) k=4
2. The pair of linear equations y = 0, y =—4 has
a) one solution (b) two solutions (c) infinitely many solutions (d) no solution.
3. Which term of the AP : 3, 8, 13, 18, ....is 78 ?
a) 14 (b) 15 (c)16 (d) 17
4. The distance of the point P(3, —5) from x-axis (in units) is
a)3 b)-5 (c)5 (d)-3
5. The radius of a sphere (in cm) whose volume is 367 cm’?, is

1
(@) 3 (b) 35 ©3/3 (@3
I1. Answer the following question : 1x5

6. In the given figure PQ is a tangent to the circle and , QOP = 70°
then , QPO =7

o —"

Q

7. Giventhan sina= and cos =0, then the value of f—a is

STk

AD 3
8. In the given figure DE || BC. If BD = 5 and AE=2.7cm,

then EC is equal to . A
2.7cm

D E

VA

9.If A (m,7) is the mid point of the line segment joining the points P(-6, 10) and Q (-2, 4) then the

value of m is

10. If the mean of a data is 27 and its median is 33 then the mode is

III. Fill in the blanks :

11.If 4x*— 6x —m is exactly divisible by x — 3, then the value of mis .

12. AOBC is a rectangle whose three vertices are A (0,-3), O (0,0) and B (4,0) | The length of its

diagonel is



* OR
The point on the x-axis which is equdistant from (-6, 0) and (4, 0) is
13. If (P-1), (P+3), (3P-1) are in AP, then P is equal to |

14. The total surface area of the given solid figure is | /

15. If sin@—cos 0= /3 cos@,(6 % 90°) e
then the value of tang is |

IV. Answer to the following questions
16. Find the sum of the roots of the equation x* — 6x+2=0
17. Find the coordinate of the image of a point (3, —5) with respect to the Y-axis.
18. The diameter of a sphere is 14 cm. Find its surface area.
* OR
The diameter of a hemisphere is 4.2 cm. Find its valume.
19. In the adjoining figure, AB || CD, AB=4 cm, AE=3 cm and CD=10 cm. Find the value of DE.

D

A C

20. If the probability of an event E happening is 0.023, then find P (E) .
Group- B : Each Question Carries 2 Marks : 2x6=12

21. Find the value of k for which the system of the linear equations 2x+5y=3 and (k+1)x + 2(k+2)y=2k

will have infinite number of soultion.

1 1
22.1f o« and g are the zeros of the polynomial 2y* + 7y + 5, then find the value E"‘E

OR
If one zero of the polynomial 5x*+13x—p is reciprocal of the other, then find p.
23. In the given figure the angle of elevation of the top of a tower (AB) from a point (P) on the ground,

which is 30 m away from the foot of the tower is 30°. Find the height of the tower.
A

30°
30m




24. A child has a die whose 6 faces show the letters given below :

A B C D E A

The die is thrown once. What is the probability of getting (1)A, (i1)) D ?
* OR

A card in drawn at random from a well shuffled deck of 52 playing cards. Find the probability that

the card drawn is (i) a card of spade or an ace, (ii) a black king.

25. Find the zeros of the polynomial x?—7x +10.
26. Prove that tan 10°. tan75°. tan 15°.tan80°=1

Section- C : Each Question Carries 3 Marks : 3x8=24

27. Find the sum : 34 + 32+30+...+10
28. Find the ratio in which the point P(11,y) divides the line segment joining the points A (15, 5) and
B (9,20). Also find the value of y.

3 1
29. Evaluate ¢ Cot?30° — 2005230°—Z sec245°+z cosec?30°

*OR

1
If tan (A+B)= /3 and tan (A-B) = ﬁ ,0°< A+ B<90%°and A > B find the value of A and B.

30. A chord of a circle of radius 14cm makes a right angle at the centre. Find the area of the minor
segment of the circle.

* OR
The minute hand of a clock is 12cm long. Find the area of the face of the clock described by the minute

hand in 35 minutes.
31.Sloves \2x*+7x+52 =0
OR
1 1

x x-2

=3, x#0,2

32. A game consists of tossing a one rupee coin three times and noting its outcome each time. Raju
wins if all the three tosses give the same result. Calculate the probability that Raju will loss the game.
Write all the possible outcomes also.

33. Find the mode of the following data :



Class 0-20 {20-40 |40-60 | 60-80 80-100 | 100-120 120-140

Frequency 6 8 10 12 6 5 3

34. Of two towers, 150 meters apart, the height of one is double the other. From a point on the line
joining the bottoms of the two towers, the angle of elevation of the taller tower and the other tower are

found to be 60° and 30° respectively. Find the height of the two towers.
Section D : Each Question Carries 4 Marks : 4x6=24

3
35. Solve ¢ 2x——=9
y
y
OR

Solve the following system of equations graphically :

3x+2y=4

2x-3y=7
36. Prove that the lengths of tangents drawn from an external point to a circle are equal and they
subtand equal angles at the centre.
37. From an exterior point draw a pair of tangents to a circle of radius 4cm, which are inclined to each
other at an angle of 60°. (Write only the constructional procedure but no proof'is to be given. Traces of
construction must be clear.)
38. Side AB and AC and median AD of a triangle ABC are respectively proportional to sides PQ

and QR and median PM of another triangle PQR. Prove that A ABC ~ A PQR
P

A

D Q M

OR

BL and CM are medians of a A ABC,
right angled at A. Prove that 4 (BL*+CM?)=5BC? M L




39. A vessel is in the form of a hemisperical bowl mounted by a hollow cylinder. The diameter of the
hemispere is 14 cm and total height of the vessel is 13cm. Find the capapcity and inner surface area of
the vessel.

* OR
From a solid right circular cylinder with height 12cm and vadius of the base Scm, a right circular cone
of the same height and the same base radius is removed. Find the volume and total surface area of the

remaining solid. [ 7 =3.14 ]

40. The mean of the following frequency distribution is 57.6 and the total number of boservation is 50.

Class 0-20 | 2040 40-60 60-80 80-100 100-120

Frequency 7 f 12 £, 8 5

Find f] and f2 .

* Additional Questions



Model Question
Class - X: Science (Biology) : 30 Marks : 2020-2021

o= afol etea ww-1 1x8=8

5)  HCOI&! 75 G AT ST 2o —
F) TS ©I2 SFITT @ T () G (o) AT (7) AR 9o |
})  IF L MR (@ ST ¥ Toe FCF G 261 —

) 7% () %7 (o) G (7) K2
©) R IR AT ACHFALCHET & 2TASy —
) 6CO+12HO........... CH,,0,+6CO,+H,0
%) 6CO,+12H,0 AT ......... CH, ,0,+0,+6H,0
51) 6CO,+12H,0 (HICfeet + e ... CH,,0,+60,+6H,0
¥) 6CO,+12H,0 GItalfeet + 3eens........... CH,,0,+6CO,+6H,0

8) L AWy ¥ 2N TV SHieze T —

) WATSIE () M (o7) I Tt () e
¢) STETERT SFCL Gl AT Wiz AR g6 6 2
v) e R G T e Suigge wie |
Q) IS Al G T T P I 27 |
v)  TENR (PICER I %A IGIoF I 7 |

-l alfefo erse st 3x4=12

5) eI fom sieaome fwg feret i@ stimw s |
$0) IS @ SIS WA foafb 2xiey #{12(3y foret |
v3) SrE [ 2 [Feirg At aifde g3 2 @it siegmrd S (e 2

52) SN SACF GFF (D 2 S 8 (I SCT 2ie wio si1fqy fovd | 1+2
At
S Gl FIS A0 ? SAS Gl 7o AR foT2 2 142
aI-faretot af el etsm e 5 5x2=10
Y0) WA ZHTET SsfotTa ikt e ater 34 2 3219 Ml fFeita 7% Alfzs 23 S 322
3 (5@ 2+1) +2 ST 1
4]
I TR e Ha e w0 e o 39 | 3
) Sfewmz @ s e @ @i git oS ford | 2
8) FJeigesiine 5 2 Tuizael wis | SIES SRR Uit foafb aure Soir ford | 1+1+3=5
At

F) AT A SR 2 SRR @ g6 e e 2
q) PR (MR G (e G ArbbefRE whiw ford 2 142+2=5



Model Question

Class - X : Science (Biology) : 30 Marks : 2020-2021

Section-A: Each Questions Carries 1 Marks 1x8=8

1. The antotrophic mode of nutrition requires —

a) Carbon dioxide and Water (b) Chlorophyll (c¢) Sunlight (d) All of the above.
2. The kidneys in human being are a part of the system for —

a) Nutrition (b) Respiration (c) Excretion (d) Circulation

3. Which of the following equation is appropriate for photosynthesis —

(a) 6CO,+12H.O........... CH 0, +6CO,+H,0O

(b) 6CO,+12H,0 + sunlight .......... CH, ,0,+0,+6H,0

(c) 6CO,+12H,0 + Chlorophyll + Sunligh........... CH O +6CO,+6H,0
(d) 6CO,+12H,0 + Chlorophyll + Sunligh ........... CH .0 +6CO,+6H,0

4.  The first trophic level of a food chain is occupied by —

a) Herbivores (b) Carnivores (c) Green Plants (d) Decomposers

Name of the chemical substance which is mainly responsible for Ozone layer depletion.
Give example of one Biodegradable Waste ?

Who is considered as the father of Genetics ?

o =R

Give the name of chief respiratory substrate of living cell ?

Section - B Each Questions of Marks-3 3x4=12
9. How is the sex of the child determined genetically in human beings ?

10. Write 3(three) major difference between acrobic and anaerobic respiration?

11. What is Ozone ? How is it formed ? Why is it necessary to conserve it ?

12. What is the unit of asexual reproduction ? Mention 2(two) major differences between asexual

and sexual reproduction ? (1+2)
OR
What is vegetatine propagation ? Write any two advantages of vegetatine propagation ? 1+2
Section - C Each Questions Carries 5 Marks 5x2=10
13. Draw alaballed diagram of the internal structure of human heart ? Discuss the flow of circulation
through it ? 3 (Fig.2+lab1)+2
OR

a) Draw a neat laballed diagram of a nephran ?
b) Mention any two methods by which plants excrete their waste products? 3+2
14. Define regeneration ? Give example ? Write 3(three) major contraceptives used to prevent
unwanted pregnancy? 1+1+3
OR
a) What is placenta ? Mention any 2(two) functions of it.

(b) Write the role of Seminal Vesicle and prostrate gland present in human male?  H22



Model Question
Class - X : Science (Chemistry) : 25 Marks : 2020-2021

e+ oifefe eraa ww-1 1x6=6

G0 *3 I GF5 I (077 2Peeffera e wis ¢
Y) @R WS & sitag S @ T8 (red 2 2
R) ez TRl =i 7 —
BaCl, + H,SO, — BaSO, + ............
©) R IR AR T 39 Regod 2
8) (FIre TR SifTeiha s ford |
&) PRI wZta woe ot st i wifas =t =wiSre
v) G O SIS I o714 |

<-fqetal 2 e == 3 3x3=9

farwa ersrajfera siifwe e fa1d ¢
q) () 93 oI I 72 |
(%) e Rt e

(1) SICHT TN w1 S #Afa2s T (& 2 1+1+1
v) () Aol @fd &5 2

() ez e wkaifde 2 & 2 wigepz o |

Cu + FeSO, — CuSO, + Fe 1+2
5) (F) WA AFHoF MR (CNG) e SAWI @0 2

(¥) wP9)® (Unsaturated) BTG FIF 0672 Sviaepiz ord | 142

o-faetat 2 ama i 5 5x2=10

A7 epsrajfera Tag whs ¢
30) (F) T FICF A0 2
() TR Tl FICF ICE 2 TwRe We |
(9) ITUPAC #=ifete Wiaa @eia aiw fore |

(T) CIBIRIET T A1 AT o714 | 142+1+1
) (F) (TS 21T AT @6 Aot S 37 |
() Syl o= Afire @t it 3z 7T o= =itz 2
(1) IR oo BeeTale e ferel |
(9) TBEITE & FAFAH ATV, FA AP 7GR 15, U7 N0 (@0 S8 S defige
TR GR & 2 1+1+1+2



Model Question

Class - X : Science (Chemistry) : 25 Marks : 2020-2021
Section-A: Each Question Carries 1 Marks 1x6=06

Anser the following questions in one word or in one sentence :
1. Why the iron materials are coated with paint ?
2. Complete the reaction —
BaCl, + H,SO, — BaSO,+ .........
. What is the colour of pure copper sulphate solution ?

3

4. Name the acid that is present in lemon.

5. Is the substance obtained by combustion of magnessium acidic or basic ?
6

. Name one liquid non-metallic element.
Section - B Each Question Carries 3 Marks 3x3=9
Give brief answer of the following questions :
7. (1) Name one indicator.
(11) What is ‘Neutralization Reaction’ ?
(111)) Why the aqueous solution of acid can conduct electricity ? 1+1+1
8. (1) Whatis ‘Reactivity Series’ ?
(i1) Explain whether the following reaction can occur or not —

Cu +FeSO, — CuSO, +Fe 1+2
9. (1) What is the main constituent of CNG ?
(i1) What is unsaturated hydrocarbon ? Explain with example ? 1+2
Section - C Each Question Carries 5 Marks 5x2=10

Answer the following questions
10. (1) What is catenation ?
(i1) What is homologous series ? Give example.

(111) Write I[UPAC name of the following compound —

H-C-C
I NOH
H

(1iv) Write structural formula of pentanal . 1+2+1+1
11. (1) Mention one limitation of Mendeleev’s periodic table.
(i1)) How many ‘Group’ and ‘Period’ are there in Modern Periodic table ?
(111) Write the electronic structure of chlorine atom.
(iv) Atomic number of nitrogen and phosphorous are 7 and 15 respectively. Which one is more

electronegative and why ? 1+1+142
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Model Question : Class X : Science (Physics) : 25 Marks : 2020-2021

Section-A Each Question Carries 1 Mark 1x6=6
i) Answer in a word/sentence 1x5
1. A beam of white light splits when it passes through a prism. Name this phenomenon.
2. Name of physical quantity whose unit is volt/ampere.
3. Which is having more resistance— (i) 220v—100w bulb or (i1) 220v—60w bulb and why ?
4. Two magnets are lying side by side as shown below. Draw magnetic field lines between poles P
and Q.

S N S N
P Q

5. Name the rule which determines the direction of magnetic field around a straight current carring

conductor.

ii) Choose the correct option : 1x1
6. The phenomenon of electromagnetic induction is — (i) the process of charging a body (ii) the
process of generating magnetic field due to current passing through a coil (ii1) producing induced
current in a coil due to relative motion between a magnet and a coil (iv) the process of rotating a coil
of an electric motor.

Section-B Each Question Carries 3 Marks 3x3=9
7. Draw a ray diagram of the image formed when the object is placed in front of a concave mirror in
between the focus and the pole of the mirror. What will be the nature and size of the image formed?

2+1
* OR
Draw a ray diagram to show the formation of image by a convex lens when an object is placed at
2f of that lens in front of it. Write about the nature of the image. 2+1
8. Why specturm is formed when white light is passed through a glass prism ? Draw the ray diagram.
2+1
*OR
Why do the stars appear to twinkle but the planets do not ? Explain your answer .
9. State Right Hand Thumb Rule. A current through a horizontal power line flows in east to west
direction. What is the direction of magnetic field at a point directly below it ? Explain it.
* OR
What is the direction of the magnetic field lines outside the bar magnet ? Why two magnetic lines of
force don’t intersect each other ? 1+2

Section-C Each Question Carries 5 Marks 5x2=10
10)(1) A ray of light travelling in air enters obliquely into water. Does the light ray bend towards the
normal or away from the normal ? Darw a ray diagram.

(i1) Define the term absolute refractive index of a medium. If the speed of light in vacuum is 3 x
108m/s, find the speed of light in a medium of absolute refractive index 1.5.
OR

i) Define the power of a lens. What do you mean by the statement- ‘the power of a lens is +2.0D°.



(i1) You are provided with two convex lenses of focal length 15cm and 25cm respectively. Which of
the two is of larger power ? Give reason.
11. (i) State Ohm’s law. Derive the definition of resistance from it.
(i1) How the resistance of a conductor depends on its length and corss-sectional area ?
OR
1) Write an expression for the heat produced by electric current and state Joule’s Law.
i1) An electric refrigerator of power 400 W is used for 8 hours per day. Find the cost of electric

energy consumed in 30 days at the rate of Rs. 3.00 per kWH.



Model Question : 2020-2021

Class - X : Social Science (Geography & Economics) : Full Marks- 40
Group-A : Geography : 20 marks

e+ 2ifsf e ww-1 1x6=6

I) Answer the following questions in one word / sentence :
GF D *TH A GF AT AN R Ted wie |
1) Write the name of two major soil of India.
SIS 76 24l e ai fere |
2) What do you mean by Bhangar and Khadar ?
Sl @3 4R IfT0e 32
3) What type of resource is Iron Ore ?
a) Renewable (b) Biotic resources (c) Individual resource (d) Non renewable resource.
TR SR 6 2P 377 2
<) RPN =7 (M) (< A7 (2) TS 7o (31) SFeATN F91 |
4) What is potential resource. Give example .
TA=ICo e 375 < 2 Twigsel mie |
5) What is mixed farming ?
[BREER

6) Which one of the following are Leguminous crops and Zaid crops :

Water-melon, Moong.

fT5fere @I MR T@ 43R SR T — SIe, I |

IT) Indicate the following with name and symbol on the out-line map of India (supplied with the
question paper) : 1x3=3
eMTad ATH eWE SIATed THbLE FRfeeyfera s, 2iSis 5% 8 PR o %41
7. Major Wheat producing area. &I« oI5 BLoAWE S145eT
8. Largest Rubber producer state. 2l T T ST |
9. Mumbai. 13 |
IIT) Answer the following questions within 50 word :
Fmferfe epefera Tea wie ¢oft *Itara Wt ¢ 3x2=6
10. Define enriched Hinterland.
RG] ARGITT - 1 |
11. Write the name of two major soil found in India. Mentioned their areas where found.
SIRATS 2Ne AR G5 Yo A4 JFEFIF AN o1 | SIRTSACHLAR #H1e3 T Srar 7 |
IV) Answer the following questions within 100 words : 5x1=5
Toa el Soofs *itwra sty Tea wie |
12. Name two major Beverage crops grown in India. Describe their geographical features for

growing.



OIS Tl 1 2T AR FAET AN T G2 O SLAMCTR (STCAeTs (IMR0) 1<y 3931 |
OR
Describe factors for location (geographical and human) of an Industry.

REPRI IR Gy €6 R (TN @ Sy) i 41 |

Group-B : Economics : 20 Marks

V) Answer the following questions in one word/sentence :
Fefefee epifer o v/ 9 3t Tea we : 1x4=4
13. The Development of a Country is determined by the factor of :-

1) Per Captia Income (ii) Health (iii) Average Literacy rate (iv) AlL

G5 (0T BT g ge)el ofpifd e a2 —

) MBI = () FPRY (91) 51T AT (18) A9 |
14. What is National Income ?

ISR S B 2
15. How many sectors of Economics Activities ? Write their Name.

StATeF FRENCHT FAD ¢ 2 7 for4 |
16. Write the name of a product produced in the Secondary Sector, which is Used in the production
of the Primary Sector.

GG T (FCE SeoAlfre w3y AT GFEH SAMCTR FICE RS THGF A1 674 |
VI. Answer the following questions within 50 words : 3x2=6
Tferere erefera @o *tara Wty Tea wie
17. How Human Development Index is Measured ?

J®I@ Human Development Index /s 1 2372
18. Describe the importance of the Right to seek Redressal for Consumers.

ST TFloofzel wifK TR SR ofggelel aefi 7|
VII) Answer the following questions within 100 words : 5x1=5

TeoR el Soofl *Itar Sy Ted wie
19. How many sectors are classified in the economic activities ? Explain the importance of Service
Sector with example.

ST AP cFasfel Foeit] Rog ¢ [ F 2 & vFal Fa SiRTe oFes)d Sniza FeE
IR
20. Define Cheque ? Three Parties are engaged Drawer, Payee, Drawee in settling the transaction of
cheque. Discuss about three parties.

®F I ? BT NG G ™AW I§ o« 210 Drawer, Payee, Drawee & 2 i wie |



MODEL QUESTION

Class - X : Social Science (History) : 20 Marks : 2020-2021

-5 ¢ efel @ I=-121x6=6
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faeia-4 ¢ 2ifefe aria Wi 3 ¢ 3x2=6
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* ot
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* Sl
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MODEL QUESTION

Class - X : History : 20 Marks : 2020-2021

Group-A : Each Question Carries 1 Mark :1x6=6
A) Choose the correct answer :  1x2
1. The Treaty of vienna was signed in
a) 1810 (b) 1812 (c) 1815 (d) 1820.
2. The book ‘Hind Swaraj’ was written by
a) Mahatma Gandhi (b) Jawaharlal Nehru (c) Maulana Azad (d) Lal Bahadur Shastri.
B) Answer the following questions in one complete sentences : 1x4
3. Who was Frederic Sorrien ?
4. What is the full form of IMF ?
*OR
What is Trade guild ?
5. Who painted the image of ‘Bharat Mata’ at first?
6. What do you mean by G-77.
* OR
What do you mean by Proto-industrialistion ?
Group-B : Each Question Carries 3 Marks : 3x 6

Answer the following questions within 60 word each.

7. Who was Giuseppe Mazzini ? Describe his role in the unification of Italy.

OR
Write a short note on unification of Germany .
8. Mention any three features of Bretton Woods Agreement.
*OR

Why did industrial production in India increase during the First World War ?

Group - C : This question Carries 5 Marks :

9. What was the incident of Jallianwala Bagh ? What were the effects of the Jallianwala

Bagh massacre ? 3+2
OR
Under what circumstances the civil Disobedience movement was launched ?
Group-D Map poiting. 3

10. Locate and lebel the place in the given outline political map of India. 1x3
a) The place where congress sessiion was held in December 1920.
b) The place in Punjab where a massacre took place.
c¢) The place where Gandhiji manufactured salt by heating sea water.
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Model Question

Class - X : Sub - Social Science (Democratice Politics) : 20 Marks : 2020-2021
Section-A Each Question Carries 1 Mark Ix4=4

Answer the following questions in a word :
1. What percentage of people in Belgium speak Dutch?
2. Write any one Democratic Country in the World ?
Choose the correct answer :
3. ‘Education’ falls under which list in the constitution of India ?
a) Central list (b) State list (c) Concurrent list (d) None the these.
4. What is the guiding philosophy of the Bharatiya Janata Party.
a) Bahujan Samaj (b) Revolutionary democracy (c) Integral Nationalism (d) Modernity.

Section - B Each Questions Carries 3 Marks 3x2=6

Answer the following questions in not more than 60 words :
5. Why power sharing is desirable ?
6. What is decentralisation of Power ?
*OR
State any three functions of local government ?

Section - C Each Questions Carries 5 Marks 5x2=10

Answer the following questions within 150 words.

7.  What are the conditions under which democracies accommodate social diversities?
8.  State the various functions of Political Parties ?
OR

How can Political Parties can be reformed ?

* Additional Questions.
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